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Remi der !!!

Whenever yvou see the
words Parallel &
Perpendicular think

slong
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#l1
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January 11, 2017

Warm | nestions

Find the equation of a line parallel to 3y=4x-1
and passing through the point (4,2).

Determine the equation of a line

perpendicular to 4x+5y=7 and having
the same x-intercept as 10x+7v=-20.

Determine the equation of a horizontal

line passing through the same point on
the y-axis as 3y =6x -9
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Find the equation of a line parallel to 3y=4x-1
and passing through the point (4,2).

e

Parallel - (Same Slope)Y] m=y,-y;
Xy - X1
Jy=4x-1
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Determine the equation of a line
perpendicular to 4x+5y=7 and having
the same x-intercept as 10x+7y=-20..~
slope: 5/4 ™M= 5
point: (-2, 0) X,= -3 S.ZO

(X6

)
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Determine the equation of a horizontal
line passing through the same point on
the y-axis as 3y = 6x - 9 (3;&’??)

slope: m = .C%
point: (0,-3) X.=O g, =72
()G)% - e® o oxe? =
J\%é/e}y S R (N - v (X-X
orizontal Line 33: ox-4 = 3 3 i L o (7(-—(;\
Slope = 0/1 3= 6oyH N7 A

5T |l ye-od
23
95—

5-3 L
©,73)
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Neroocank:
O Gwen.
poit. (3,1 Xm0y =T

W) Find Slope W) Y- }:m(x-y‘
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® Gwn
¥kl (30) X7 D y,=0
3'“\¥: (o,fLDo X, =O 3‘:4#
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@ Cwn:
(6)3') X‘:6 3‘:9
(,-9) Xp= ! y=S

Q) Find S\o?é- Q) 3_ 5‘: m/g%__)(\‘/

i i T 5_3 :%Q(—Q
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M= 53 \3—32%7_( ,HSQ
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® Gwen.
?ou.f\\".' (473 X =4 3‘:_?)

@ End Slope W -y, = n(x-¥,
QMP 3—35 - 5/6?47
9 = lox _
h s D0 SW >

dy= 10x-9
93 > 0
Y= Ox-\
w=9
mMy= 9
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© Guwn
(,6) Xi=-90 3.=6

hory zmlm\ l\ng '.

44, (X% )
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January 11, 2017

13



Day 15 - Equation of a Line (difficult) after.notebook

@ G\\m'.
<%:—\> X\:B 3‘:’\

Vechiaal g - @)

Y- 3‘: W\(X‘X\\

y- ()= Le(xffﬂ
O(\y\}— |(x-2)

o= x—%i

January 11, 2017

14



Day 15 - Equation of a Line (difficult) after.notebook

Exaw\?QQ's:
o X- l'\‘ffCQD"OQ o — (3,0)

January 11, 2017
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M(39 5) U(_Za '1) D(Oa '4)
Find the equation of a line

parallel to MD and passing
through U.

slope:

point:

(G-
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EOLM‘\C‘X\S o Lings ~ Peview
® 7(‘\'33‘%:6 ® 3—3:()

® 5x+3&35‘0 ® :):b“%
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4, Determine the equation of a horizontal line passing through {7, 3).
Please state your answer in General Form. i : ‘-el )

E 0 }\Nlamjm‘ 11'1;\8 kjuk- ” 'Ca;-*’\\

m"—" _O_ I\.-I'I--f;) = Q’[r th\)

]
| J

(=9

(O 1) 5. Determine the equation of a line with a slope parallel to 4fy - 2) = 24x—32 and &
’a == y-intercept of & Please state your answer in Slope- Intercept Form.

0 449 = -2 o Y Bl Oy WSS (

=
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iua of a ine that has an x-intercept of -3 and a y-intercept of 2
our answer in General Form, &) p) v (0,9
. )

) j-j‘rm(’x—fl) =
y-0° %(M) M
| = 3. 4-&2
r % 1j 571 :
.ML 2 3&3: ’3)('1‘6 .
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